Bridge at the Lunatic Fringe --  Number 5 – 

Second hand Play, Part Three
Continuing with exceptions to the “2nd hand low” maxim, the most mundane reason for playing 2nd hand high is that if you don’t take the trick, you’ll never get it.  While this sometimes is the case, it also often happens that the lost trick in one suit comes back in another suit-- sometimes with interest.  A case in point:  

Prof. Lobochevski (North)



S  K 4 2



H  K Q 5 


D  9 7 4 


C  9 5 3 2
Minna (West)

Majorca (East)

S  J 10 9


S  7 6

H  A J 10 4


H  8 7 6 3 2
D  J 6 3


D  K Q 10 2


C  K J 9


C  10 4 
Warren (South)

S  A Q 8 5 3


H  9



D  A 8 5


C  A Q 7 6 
Warren opened the bidding with 1 spade, and proceeded to game when the professor raised to 2 spades.  Warren’s bid was marginal;  a “help suit game try” – a bid of 3 Clubs or 3 Diamonds would probably be better, and might keep the partnership out of a poor contract.    But it’s hard to argue with success.
Looking at all four hands, its easy to see that a diamond lead would easily defeat the contract.  But with no attractive plain suit lead, Minna led the Jack of trumps, won by Warren in the closed hand.
Warren immediately led his singleton heart, and Minna, seeing the K and Q in dummy felt that a hold-up was pointless;  and that if she didn’t take her ace, she might never get it.
This in fact was true, but never-the-less, rising with the Ace allowed Warren to make the contract, as the two heart winners now allowed him to get rid of both diamond losers.  With the clubs breaking, he was now able to hold his losers to the Ace of hearts and two clubs.  

Observe that ducking the Ace of hearts (2nd hand low) was the right play.  With this duck, the defense in fact will never make a heart trick, but as long as they are careful NOT to lead hearts themselves, they will eventually make 2 diamonds and 2 clubs…  a one trick set.  Ducking gives up one heart trick, but gains 2 diamond tricks.
Another example – one that many players go wrong on—occurs when a singleton is led from dummy.  Especially if the suit led is known to be a critical side suit for declarer, it is usually right NOT to play the Ace in 2nd hand (unless dummy has exceptionally long trumps).
On the very next hand, Majorca made this error, rising with the Ace in second hand, and Warren again made a contract that might have been defeated:
Prof. Lobochevski (North)



S  2



H  Q 5 2



D  A 7 4 2



C  A J 8 5 3 

Minna (West)

Majorca (East)

S  Q 9 7


S  A 10 6 4

H  A 4



H  9 7 3

D  Q J 10 7


D  9 5 3


C  Q 9 7 4


C  K 10 2

Warren (South)

S  K J 8 5 3



H  K J 10 8 6



D  K 8



C  6 

The bidding:

S (Warren)
W(Minna)
N(Professor)
E(Majorca)

1S

Pass

1NT *

Pass

2H

Pass

2NT

Pass

3H

Pass

4H

Pass

Pass

Pass

* Forcing

Minna led the diamond Q, and Warren won in dummy in order to lead his singleton spade.  Now Majorca went wrong by going up with the Ace.  She continued with a trump in order to restrict spade ruffs in dummy.  
But with the lucky spade position – the Queen coming down on the third round, only one ruff was enough to establish the spade suit.  Thus Warren made an overtrick, losing only one spade trick and one trump trick.  

If Majorca ducks the spade lead (smoothly, of course),  declarer may well go wrong and put in the Jack.  Now the Ace and another trump restricts declarer to only one spade ruff, and the defense will make 3 spade tricks and a trump for a one trick set.

Declarer of course can make the contract via a cross-ruff if he goes in with the King after Majorca has ducked.  But as Warren privately confessed to the professor at the end of the round, “I would have played the Jack.  I just didn’t think that Majorca was up to ducking the Ace with a singleton in dummy.   I guess I was right.” 
